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A W iws bines are pasallcl, thon they do ot interect.
Line ¢ in paraliel 1o line m.

& 1 there is lightning, then it is not safe 10 be oul in the open.
Manla sows hightming from the soccer Biehd
1 posaible, wse the Law of Detachmsent to draw 3 conchusion. I nal possibde, write
nat povibie,

& I a figure s & rectamgle. then it has two pairs of parallel sides
Figure ABCE s a rectangle.

H"*ﬂ*‘l 1 m is a prime numbser greater than 2, then a® is an odd number.
i am okl mumber.

. I three poants are on the sanse line, then they are collinear.
Points X, ¥, and # sre on line m.

B, If am angle is obtuse, then it is nod acuse.
LXYE s nol obtuse,

®. Il you are a Golden Gopher, you've sttended the University of Minnesota,
iSee photos |
Use the Law of Syllogiam 1o draw 3 conclusion,

1. Zoology If an animal is & red wolf, then its scientifie name b Camir rfus.
I am amimal is named Camis rfus, ihen il s cadangenod.

1L I two planes intersect, then they imtersect in a line.
I vwo planes are not parallel. then they intersect.

L 0 you read & gosd book, thes viu enjoy voursell,
U you enjoy yoursell, then your tinse is well spent,
I I vou are studying biclogy, then vou are dsdving a soence.
If you are studying botany, then you are studying biology.




ABCI b a square. school that could be writgg
"\ 26 witing ﬂmnun#“"*:d-w i is used in applying that g,
ol
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Eixplain how the L2

For Exercises 21-31, use ihe cartoon snd

I wa, euplain.

nrh.m'l“-l'dm
allowed to park here o8
Tucsday st 1000 A 507

IR, s a man wiih a beard
allowd 1o park hene an
Monday ot 10230 A 8T

2. 15 a woman with a wig
sllowed o park here on
Saturday o WEOO A MT

M. 13 5 pemon with a Blue car
allcred ir park here on
Tisesalary af 05 & w7

ML 15 & person with & cofiveriihle
park here on Sunday af 600 pa?
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